BRAR SZI5 R




7.1

E amdfm R T (EIE A) - BKFK.EK

~ M
= N~
<
a4] . <
Q . Q
- . d
s
E
B :mm
3 3]
¥ R Wk e
— WOME  WSME e
BK (Type BK) d A M
BK 10 12/14/15 10 8 36 15 M10X1 12
BK 12 14/15/16 12 10 36 15 M12X1 12
BK 15 18/20 15 12 40 20 M15X1 12
BK 17 20/25 17 15 53 23 M17X1 17
BK 20 25/28 20 17 53 25 M20X1 15
BK 25 32/36 25 20 66 30 M25X1.5 20
BK 30 36/40 30 25 73 38 M30X1.5 25
BK 35 45 35 30 82 45 M35X1.5 26
BK 40 50 40 35 94 50 M40X1.5 30

= i A o

Type FK Type EK d =] M

FK 06 EK 06 8 6 4 28 8 M6X0.75 8
FK 08 EK 08 10/12 8 6 32 9 M8X1 10
FK 10 EK 10 12/14/15 10 8 36 15 M10X1 12
FK 12 EK 12 14/15/16 12 10 36 15 M12X1 12
FK 15 EK 15 18/20 15 12 48 20 M15X1 13
FK 17 = 20/25 17 15 59 23 M17X1 17
FK 20 EK 20 25/28/30 20 17 64 25 M20X1 16
FK 25 - 30/32/36 25 20 76 30 M25X1.5 20
FK 30 - 36/40 30 25 73 38 M30X1.5 25

128



7.2 EEEhinR~T(Z#A) - FF.EF.BF

An Ewellix company

N ABBA

LinearTech

1 Type EF
Type FF Type FF Type BF
s
oco| £
+ 1 <
oM Q
Q
Y
)
{ I —
+0.14 _
F t0.2
_ 0
E
BAI:mm
RIS IEARENIME  EASPERSME  EAIPEER HIRBIE
Type: FF/EF/BF d F
FF/EF06 8 6 9 5.7 6.8 0.8
EF 08 10 6 9 5.7 6.8 0.8
FF/EF/BF10 | 12/14/15 8 10 7.6 7.9 0.9
FF/EF/BF12 | 14/15/16 10 11 9.6 9.15 1.15
FF/EF/BF15 18/20 15 13 14.3 10.15 1.15
FF/BF17 20/25 17 16 16.2 13.15 1.15
» FF/EF/BF20 | 25/28/30 20 19 (16) 19 15.35(13.35) 1.35
FF/BF 25 30/32/36 25 20 23.9 16.35 1.35
FF/BF 30 36/40 30 21 28.6 17.75 1.75
BF 35 40/45 35 22 33 18.75 1.75
BF 40 50 40 23 38 19.95 1.95
3 RYEPW () RTETBF0MRST © BEFF20REF206IR TR » I 3T £ R 7504 25 S BT 62 R A0 S s B ST AUSE o

129

hE i S

hE 2 4% Sh S 2B

h 2=

o 4

i



7.3 FKEE

s = o E T
4-X BFLGY HEEFLRZ
L1
=]
Y
[
-
::F‘\__ L
1 [ bER<h LT—IJEG?Q
He—— 1 ——— ———1—H ©
< =] I R N R D | = )
o O I | T 1 - (=]
I e e it | e
[ R
=
J AN S
L |
H F
L
Eﬁfﬁ mm
H E Dg6 A PCD Z
FK 5 5 16.5 6 105 | 185 | 20 34 26 26 55 | 3.5 5 3 34 | 6.5 4 M3 11
FK 6 6 20 7 13 22 22 36 28 28 55 | 35 | 65 4.5 34 | 6.5 4 M3 12
FK 8 8 23 9 14 26 28 43 35 35 7 4 8 5 34 | 6.5 4 M3 14
FK 10 10 27 10 17 [ 295 | 34 52 42 42 7.5 5 8.5 6 4.5 4 M3 16
FK 12 12 27 10 17 [ 295 | 36 54 44 44 7.5 5 8.5 6 4.5 8 4 M4 19
FK 15 15 32 15 17 36 40 63 50 52 10 6 12 8 55 | 9.5 6 M4 22
FK 17 17 45 22 23 47 50 77 62 61 11 9 14 12 6.6 11 10 M4 24
FK 20 20 52 22 30 50 57 85 70 68 8 10 12 14 6.6 11 10 M4 30
FK 25 25 57 27 30 59 63 98 80 79 13 10 20 17 9 15 13 M5 35
FK 30 30 62 30 32 61 75 117 | 95 93 11 12 17 18 1 (175 | 15 M6 40

130



7.4 FFZFA)

4-X BIGY JEEFLRZ

N ABBA

LinearTech

An Ewellix company

[~ L
T

R

1417

.

- — ! - ©
g8 1 1 18¢

F——-

1510

| IR D

L o

I
L
H \ F
L
ﬁfﬁ mm

Bige d1 L H F Dg6 A PCD B X Y
FF 06 10 64 22 36 28 28 3.46 5 4
FF 10 12 7 5 28 43 B5) 35 3.4 6.5 4
FF 12 10 15 7 8 34 52 42 42 4.5 8 4
FF 15 15 17 8 40 63 50 52 5.8 9.5 5.5
FF 17 17 20 1" 9 50 77 62 61 6.6 1" 6.5
FF 20 20 20 1 9 57 85 70 68 6.6 1" 6.5
FF 25 25 24 14 10 63 98 80 79 9 14 8.5
FF 30 30 27 18 9 75 117 95 93 11 17 1

131

-
HE i e

hE 2R | HEBE 455k %8

2w

~
7
d

i



7.5 BKEIE

4-X @BFoY JEEFLIRZ

i

r
':"{;’
|
| L

1

H

! I
oot

&

H1

4-gd2 /|

L1 L

+0.02

B H b

h10.02 B1

BK 10 | 10 | 25 5 |295| 5 13 6 |60 | 39 [ 30 | 22 | 34 |325( 15 | 46 | 55| 6.6 (10.8( 5 | M4 | 16
BK12 | 12 | 25 5 |295| 5 13 6 |60 | 43 | 30 | 25 | 34 [325| 18 [ 46 | 55 [ 6.6 |10.8| 1.5 | M4 | 19
BK15 | 15 | 27 6 32 | 6 15 6 |70 | 48 | 35 | 28 | 40 [ 38 | 18 [ 54 | 55|66 | 11 [ 6.5 | M3 | 22
BK 17 | 17 | 35 ) 44 | 7 19 8 |86 |64 [43 | 39 | 60 | 55 [ 28 | 68 | 6.6 | 9 14 | 85| M4 | 24
BK20 | 20 | 35 8 43 | 8 19 8 [88 | 60|44 [ 34 | 52 (650 |22 (70 |66 | 9 14 [ 85| M4 | 30
BK25 | 25 | 42 |12 | 54 | 9 | 22 10 | 106 [ 80 | 63 | 48 | 64 | 70 | 33 | 85 © 1M1 (17 | 11 [ M5 | 35
BK30 | 30 | 45 | 14 | 61 9 |23 11 (128 | 89 | 64 | 51 | 76 | 78 | 33 (102 | 11 [ 14 | 20 [ 13 | M6 | 40
BK35 | 35 | 60 | 14 | 67 | 12 | 26 12 1140 96 | 70 [ 52 | 88 | 79 | 35 |114 | 11 | 14 [ 20 | 13 [ M8 | 50
BK40 | 40 | 61 [ 18 | 76 | 15 | 33 14 (160 (110 | 80 | 60 (100 | 90 | 37 |130 | 14 [ 18 | 26 |17.5| M8 | 50

132



7.6 EKEEE

‘ 2-X drill through

I

To—b-d 4
HETELSY
#oT-

|
|
|
r
L

|
V4
L -

-—

EK4 ~8

4-X BFLOY JsEFLIFZ

N ABBA

LinearTech

An Ewellix company

EK10 ~ 20

2-X @7

H1

FH4s EK6,8 8
BAI:mm
bi0.02 hi0.0Z
EK 05 5 16.5 55 18.5 3.5 36 21 18 11 20 8 28 4.5 - - M3 11
EK 06 6 20 55 22 815 42 25 21 13 18 20 30 5.5 9.5 11 M3 12
EK 08 8 23 7 26 4 52 32 26 17 25 26 38 6.6 11 12 M3 14
EK 10 10 24 6 29.5 6 70 43 35 25 36 24 52 9 = = M3 16
EK 12 12 24 6 29.5 6 70 43 35 25 36 24 52 9 - - M4 19
EK 15 15 25 6 36 5) 80 49 40 30 41 25 60 11 = = M4 22
EK 20 20 42 10 50 10 95 58 47.5 30 56 25 75 11 - - M4 30

133

-
HE i e

hE 86 4% S0 S

h 2=

2w

~
7
d

i



7.7 BFZHHE

4-X BIOY HISEFLIRZ

H1

4-0d2

W — 1+ —

H

+0.02

bt

+0.02

hE

[

|

|

|
ad1

ﬁfﬁ mm

BF
BF
BF
BF
BF
BF
BF
BF
BF

10
12
15
17
20
25
30
35
40

10
15
17
20
25
30
35
40

20
20
20
23
26
30
32
32
37

60
60
70
86
88
106
128
140
160

39
43
48
64
60
80
89
96
110

30
30
35
43
a4
53
64
70
80

22
25
28
&)
34
48
51
52
60

34
34
40
50
52
64
76
88
100

15
18
18
28
22
3
33
35
37

46
46
54
68
70
85
102
114
130

6.6
6.6
6.6

11
14
14
18

10.8
10.8
"
14
14
17
20
20
26

17.5

134



®

XN ABBA

LinearTech

An Ewellix company

7.8 EFZ#FA

B1

4-X BFLQY HIEEFLIRZ

Bl | 8F2OH

B1

[1+13
I P
|
|
|
il

EF10 ~ 20

EF6, 8

11

12

2R
2 £H I BY 4 i R

9.5

11

5.5

6.6

11

30

38

52

52

60

75

20

26

24

24

25

25

18

25

36

36

41

56

13

17

25

25

30

30

21

26

35

85

40

47.5

25

32

43

43

49

58

42

52

70

70

80

95

12

14

20

20

20

26

6

6

8

10

15

20

EF 06

EF 08

EF 10

EF 12

EF 15

EF 20

135



